
NY Thermal Inc.

65 Drury Cove Road

Saint John, NB  

E2H 2Z8 Canada  

Phn: 1-800-688-2575 

Fax: 1-506-432-1135

l

 

l

l

NY Thermal Inc.

65 Drury Cove Road

Saint John, NB  

E2H 2Z8 Canada  

Phn: 1-800-688-2575 

Fax: 1-506-432-1135

 Date Issued: 2018-06-05  Date Issued: 2018-06-05

l

P/N Description Qty Country of Origin l P/N Description Qty Country of Origin

82855 Toolbox, 24" 1 Israel 82855 Toolbox, 24" 1 Israel

85954 Burner Plate Insulation & Gasket 1 Netherlands l 85954 Burner Plate Insulation & Gasket 1 Netherlands

84441 Gasket, Blower, Viton 1 China 84441 Gasket, Blower, Viton 1 China

86129 Ignition Control 210MN Kit 1 China l 86129 Ignition Control 210MN Kit 1 China

85957 Burner Plate Insulation & Gasket 1 Germany 85957 Burner Plate Insulation & Gasket 1 Germany

85641 Sight Glass Assembly 1 United States 85641 Sight Glass Assembly 1 United States

85163 Air Switch, Huba 604.99912 1 Switzerland l 85163 Air Switch, Huba 604.99912 1 Switzerland

84915 Diverter Valve, Stepper Motor 1 France 84915 Diverter Valve, Stepper Motor 1 France

83608 Sensor, Flue, Tasseron, SS 1 Netherlands l 83608 Sensor, Flue, Tasseron, SS 1 Netherlands

85819-1 Flame Sensor 2 Germany 85819-1 Flame Sensor 2 Germany

84921 Retaining Clips, Inlet/Outlet 2 France l 84921 Retaining Clips, Inlet/Outlet 2 France

85818-1 Ignition Electrode, Dual (c/w gasket) 2 Germany 85818-1 Ignition Electrode, Dual (c/w gasket) 2 Germany

84745-1 Inlet/Pressure Sensor, RPS4 1 France 84745-1 Inlet/Pressure Sensor, RPS4 1 France

86002-1 Display Assembly 210LB…6R 1 Canada l 86002-1 Display Assembly 210LB…6R 1 Canada

84419 Sensor Supply/Return 1 Netherlands 84419 Sensor Supply/Return 1 Netherlands

85054-1 Spark Generator Kit 1 Japan l 85054-1 Spark Generator Kit 1 Japan

82368 Compression Washer, Low Loss Header Pipe 2 United States l 82368 Compression Washer, Low Loss Header Pipe 2 United States

84918 Fuse LTF/GDC 3.15A 250V 2 Canada 84918 Fuse LTF/GDC 3.15A 250V 2 Canada

84917 Circulator Cartridge, Grundfos 1 France l 84917 Circulator Cartridge, Grundfos 1 France

85537 NG Venturi Insert 1 Germany l 85537 NG Venturi Insert 1 Germany

85208 Flue Sensor Grommet 1 Netherlands 85208 Flue Sensor Grommet 1 Netherlands

85989 LP Venturi Insert 1 Germany 85989 LP Venturi Insert 1 Germany

85956 Burner Plate Insulation & Gasket 1 Netherlands l 85956 Burner Plate Insulation & Gasket 1 Netherlands

85465 Nut, M5 Flange 4 Taiwan 85465 Nut, M5 Flange 4 Taiwan

85123 Screw, Cap M4 4 Philippines l 85123 Screw, Cap M4 4 Philippines

84968 O-Ring 2 France 84968 O-Ring 2 France

85167 Gasket, Circ Pump 85114,Black 3 China 85167 Gasket, Circ Pump 85114,Black 3 China

84749 O-Ring D17x4 4 France 84749 O-Ring D17x4 4 France

85112 O-Ring 1 Germany 85112 O-Ring 1 Germany

85460 Blower 1 Germany 85460 Blower 1 Germany

84713 Gas Valve  1 Germany 84713 Gas Valve  1 Germany

86117 NG Venturi Insert 1 Germany 86117 NG Venturi Insert 1 Germany

85536 LP Venturi Insert 1 Germany 85536 LP Venturi Insert 1 Germany

85812 LP Venturi Insert 1 Germany 85812 LP Venturi Insert 1 Germany

84907 DHW Flow Sensor 1 Denmark 84907 DHW Flow Sensor 1 Denmark

83837 7 Amp Fuse 2 China 83837 7 Amp Fuse 2 China

86282 - FTV Tool Box 86282 - FTV Tool Box

_____________ _____________

S:\NTI2001_N_Drive (1-20-09)\R&D\PARTS - ENGINEERING\Parts Department Stickers and Instructions\TB FTV\- 86282- FTV Tool Box Checklist COA 2015-02-19.xls


